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Straßenbauverwaltung des Landes Niedersachsen 

B 3 
von     
bis 

 
nördl. Abschnitt 1450 / Station 0 (B 3 / B 73) 
nördl. Abschnitt 1390 / Station 0 (B 3 / K 31 / K 52) 

22.11.2019 gez. Novotny 

17.12.2019 

17.12.2019 18.12.2019 

Nov. 2019 

Nov. 2019 

Nov. 2019 

Pieper 

Loeper 

Brodehl 

Bau-km 210+687 
LW 
LH 
BzG 

Bau-km 211+000 
LW 
LH 
BzG 

Bau-km 212+214 
LW 
LH 
BzG 

Bau-km 212+900 
LW 
LH 
BzG 

Bau-km 213+950 
LW 
LH 
BzG 

Bau-km 214+295 
LW 
LH 
BzG 

Bau-km 214+956 
LW 
LH 
BzG 

Bau-km 215+708 
LW 
LH 
BzG 

Bau-km 216+173 
LW 
LH 
BzG 

Bauwerk 21.01 
Unterführung B 73 

Bauwerk 21.02Ü 
Grünunterführung 

Bauwerk 21.03Ü 
Überführung
Ketzendorfer Straße/
Fledermausquerungshilfe 

Bauwerk 21.04Ü 
Fledermausquerungshilfe 

Bauwerk 21.05 
Unterführung L 235 

Bauwerk 21.06 
Unterführung
Schwiederstorfer Weg /
Fledermausquerungshilfe 

Bauwerk 21.07 
Unterführung Oheweg /
Fledermausquerungshilfe 

Bauwerk 21.08Ü 
Überführung
Alter Postweg 

Bauwerk 21.09Ü 
Überführung
Sandscherbenweg/
Fledermausquerungshilfe 

 
= 14,25 m
>   4,70 m
= 16,10 m 

 
= 80,00 m
>   5,00 m
= 16,10 m 

 
= 15,00 m
>   4,70 m
= 18,50 m 

 
= 15,00 m
>   4,70 m
= 13,00 m 

 
= 14,25 m
>   4,70 m
= 16,10 m 

 
=   7,20 m
>   5,00 m
= 16,10 m 

 
=   7,20 m
>   5,00 m
= 16,10 m 

 
=   15,00 m
>     4,70 m
=     5,50 m 

 
=   15,00 m
>     4,70 m
=   18,50 m 

Zeichenerklärung 

 

Damm 

Einschnitt 

Ausrundungsbeginn Kuppe / 
Ausrundungsende Wanne 

Gradiententiefpunkt 

Gradientenhochpunkt 

Längsneigung und
Abstand zum nächsten
Neigungsbrechpunkt 

Neigungsbrechpunkt
mit Angabe von:
Ausrundungshalbmesser,
Tangentenlänge,
Stichhöhe,
Bau-km,
Höhe Tangentenschnittpunkt 

H     =    15 000 m
T     = 362,155 m
f      =      4,372 m
km     0+601.335
hTS=  415,868 m 

1,50 % 0,70 % 
 1 531,00 m 725,00 m 


